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a b ¢ Directions ; For the next 3 (three) qur_-st:an.r to
1. If [{ m n| =2 then whatis the value folloes '
. Consider the following lists :
r
P A " Each item under List T is associated with one
6a 3b 15¢ or more items under List I1.
of the determinant |2 m  &n | ? List I List IT
% g 5r) (Function) ' (Property)
(a) 10 . A sinx 1. Periodic function
(b) 20 ; B. ctosx 2, Non-periodic function
e} 40 . C. tanx 3. Continuous at every peint
(d} 60 O [— o, )
2. Let X be the set of all praduates in India. 4. Discontinuous function
Elements x and y in X are said Lo be related if : i
they are graduztes of the same university, 5. Dl.m!fﬂﬂ.tlﬂbl[.‘ at every
Which one of the following statements is point gn o, =)
correct ? , 6. Mot differentinble at evary
{a) Relation is symmetric and transitive point en (- o, ca}
only. 7. has period n

(b} Hu]al,:inn_ 15 reflexive and transitive only.

; 8. has period 2n
(e} Relation is reflexive and symmetric

anly. 8. increases on (0, n/2)
{d) Relation is reflexive, symmeiric and 10. decreases an (0, 7/2)
transitive.

11, increases on (02, n)

3 If x® + y% =1, then what is ;HtJ 12. decreases on (n/2, 1)
+X =iy
equal to 7 ) 8.  Ais associated with
() x-iy {a) 1,3, 589 12
:"; ;; iy (b) 24,868, 10, 11
< ! 3
@ - iy < 1,357, 10,11

(d}  None of the above
4. Consider the following statements :

o é. B is associnted with

1. For any three vectors a, b, c;

-+ -+ " o (a} 2,8 5.8 8, 12

b +T)x(A +b +TN=0

SRk (b 1,3,6,8, 10, 12
2. For any three coplanar unit vectors (c) 1,3, 58 9 12 ; ‘

3.7 Tord 5258 s (d} None of the above
Which of the statements given above isfare |7, Cis aa.am:iatcd. with

]-mt *

gy (8) 1,4,6,79, 11
ta} 1 only W e
(b) 2 eonly (k) y & 6,8 9
{¢) PBoth 1 and 2 ; &) 1,4 6,7, 9
{d) MNeither 1 nor 2 (d) None of the above

-0EBA-K-NBU {1 2-A]




a b e Beter : smet 3 (i) et & o
1. o2 || m nl=2 @ Prefefaa fed w faw i
e g r H&t 13 e g vl v g 11 o wee
6a 3b 15c! a1 efis wesil @ watua
Rt (20! m Sn| wumEm @ ? gl g
< . () i)
n ’ A ginx 1. wEd e
(a) 10 B. cosx 2, FEEA] S
Eb: if'] C. tanx 3. (=, o) ¥ vl fieg W Wem
n N
id) 60 4. FEEE B
5, (e, =) & WO R W
2. W it i e 3w e m e X e
X & wewd » ¥R y wabos o o & o & B (-, =) & WS g W
Frafrmen A s & | Prefefew & @ & @ WEHETT FE
T EEE? 7. JEAE  Eel
(a) Wy Y wafim o s 2 B, FiE 2n A ¥
(b} W Faw wEqrg i W E 9. (0, n/2) O A #
{c) = ¥an e o Tofee & g 10, (0, n/2) 9% greme &
(d) W e, WG o W # 11. (nf2, n) TR FEE &
8. ok leylal @3V pamamds SRR "
£k lex-iy 5. Afeufes 3 aafem o
- ¥
b} x4+ iy (=) 1,365,809 12
e 2x (b 2, 4,68, 10, 11
d) -2y

€ 1,3, 5 7 10,11

. b (dy  saftffEe @ o
4. Prefufes sl o Baw #ifaw _
1 felt dw wRw 2, B, © & F 6. ' Bfoafar & wafum ¢ 2
{a}) 2,8 65,8 9,12
by 1,35 8, 10,12

;.[{_l;+;]x{_a..+_h.+'&'}|=ﬂ

2. Pl @ wweca W . (e 1,3,588912
d,e, 7 ®fm:(d xe). 7 =1 (d) o § & o @

i s A e A e & 7. Cfraimd aeim e

{a) a1 fa) 1,4,8 7 8 11

{b) w2 ' b) 2,4,6,8 9

() 1328 e} 1,469

dy AML1IATAD2 dy iR 4 & o o

Q-0EBA-K-NBU




8. If p and g are positive integers, then which
one of the following equations has p — ~.|'E as
one of its roots 7

{a) —2px-(pt-g =0
) x*-2px+(pP-q =0
) %+ 2px=(pP=ql=0
(d) X+2px+p*-q =0

8. Given twu squares of sides x and y such that
¥ = x + x°. What is the rate of change of area
of the second square with respect to the urea
of the first square ?

(a) 1+3x+ 2%
(bl 1+ 2x+ 3"
e} 1-2%+ 3x°
(d) 1-92x-3x*
10. The planes’ px + 2y + 22 - 3 = and
2x — ¥y + 2 4+ 2 = 0 intersect at an angle
nfd, What is the value of p? 7
{a) 24 4
(b) 12
e} 6
dy 23
1. The growth of a guantity Nt} at any
instant t is given by dlji"] = i Nit). Given
that Mit) = Mm', ¢ is a constant, What is
_I'.I'le value .u_f a?
(&) ¢
(b} k
) e+k
@y e-k
Q-0EBA-K-NBLU

13.

{4-4a)

L

A crele iz drawn with the two foci of an
g
ﬂ2 2

diameter. What iz the equation to the circle 7

ellipee =1 at the end

fa) %%+ y¥=als bt
b) 2 +v=a?-pd
&) ¥ +vi=2(a®sbd
@) xeyi-a(a®-pYH

What is the image of the point (1, 2} nn the
line 3x +dy -1=0 7

b) [ET l]
g
] [1 —1]

8 2
(@ [_3, l]
5" 2

If the product of the roots of the equation
? _Bx # k=15 is -3, then what is the

value of k 7

(a) 12

(b} 15 n
{c) 16

(d) 18

Conzider the following statements :
1.  Every [unclion has a primitive.
2 A primitive of a funetion is unique.

Which of the statements given above izfare
correct 7

(a) 1 only

(B) 2 only

fe} Both 1and 2
(d} Meither 1 nor 2

of the,

L]




.
8.

10.

11.

Q-0EBA-K-NBU

ok p iR q wem s ¥ o PR
st A d s g p-Ja # 7

(&) x=—2pu—{pa—qj_0
b) x*-2px+ipf-qi=0D
{c) x?+2;:|x—tp2—q}=ﬂl

) x*+2px+ipP-qi=0

gt ywi x 3R y I @ wigmeer &
y=x+x2, AR ot b daow & ok A =
e wl % dwen & g A 7

(a) 1+ 3%+ 2x°
b} 1+ 2x + 3x°
fe] 1-2x+ 3

(@) 1-2x-3%

oA pru+Zyv+2z-3=0 3%
Sx-y+z+2=0 & a0 alad)

_ P A N R P

fa) 24

(b) 12

(g} B

(d) &

dM(t}

dt
odigEe  TREmgnd s N =celt, Tl e

EHFRE Ma@mAATNE ?

fadt wm ¢ = T Ny & afe = a Nit)

{a) ¢
b} k
el e+k
d) e-k

13.

14.

{6 =A]

B X 4 Yo o1 ook il o
a
3 firg AR v g ot mar & | 79 @ Wi
Fd?

{a) xﬂ+yﬂnn*+b2
(b) xil-yz:!az—hz
(ch xi+yﬂ-2fa1+b3'!
() x®+v=2-b%

Wax+dy-l=0WFgQ,mEmmmd?

@ (44

(b) [I, 1]
53
71

te) [EJ 2]

(@) [_1, 1]
5' 2

oft e x? - Bx o+ k= 16 & W @
PAEE -3, Mk EHand?

{a) 12

) 15

c) 16

(d) 18

Frafefan o o fmm S -

1. WS e o 0w # |

2. & o @ g afEe g 2
it wel o % @ T wE g v
(a) a7 1

{b) am 2

(c) 13z

)y Falazadz



16. If A=|g, b, e dl, then what is the number of
proper subseta of A 7
{a) 16
(b} 15
{e} 14
(d) 12
17. What is the number of three-digit odd
nombers formed by using the digits 1, 2, 3, 4,
8, 6 if repetition of digits is allowed 7
(a} 60
(b} 108
(e} 120
(dy 216
5 B 1
18. Lot A = g sl Let there exist a
, a5 49
matrix B sueh that AR = . What is
28 13
B equal to 7
5 1 4
{a)
2 6 3
2 6 3
[[}]
5 1 4
5 )
e} |1 &
4 3
2 B
(d} 6 1
'.'5 1}
O-0EBA-K-NBU

2.

21.

{6-A)

id)

Consider the following statements :
1. The probability that there are 53 Sundays

in a leap year is twice the probability that
there are 53 Sundaye in a non-leap year.

2. The probability that there are 5 Mondays
in the month of March is thrice the
probability that there are 5 Mondays in the
manth of April.

Which of the statements given above isfare
correct 7

(@) 1 only

(b) 2 only

{c) Both 1 and 2
(d) MNeither 1 nor 2

Consider the following statements :
111 A' = A, then A iz a singular matrix,
where A’ is the transpose of A.

2. If A is a square matrix such that 4% = 1,
then A is non-singular, '

Which of the statements given above isfare
correct 7

fa} 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

If p times the p"" term of an AP is q times
the g term, then what is the p + g)h

" term  equal to 7

(a) p=+gq
(6] pg
e} 1

d 0

A team of & players is to be chosen from a
group of 12 plavers. Out of the eight players
one is 1o be elected as captain and another as
vice-captain. In how many ways can this be
dona ?

(a} 27720

(b) 13860

(e} 6930

485



16. T A= la b, e dl, @ A% A T &

dEn TR P
(a) 16

(b} 15

e} 14

(dy, 12

f Fai Sl B el 3 1, 2, 3, 4,
Iy s am T # | af
# o ol e Rt o

{a} &0

17.

(b} 108

(e} 120

(d} 216

L
-1

18. mﬁrﬁuﬁa.t:[z

ﬁiuﬁaﬁﬂﬁﬁﬁm?ﬁinﬂ=[:: i

B d?

2‘|

(2 B5)
dy (6 1

|3

O-OEBA-K-NEU

sl @ gEeE

i]:ﬂh’ﬂﬁﬁﬁm

8
) @
13

4, 63

21.

{7 -A)

Fr=frfios sl w few @i .

1. fid e of 3 53 tfEr @ & ot &5
Ta:ﬁqaﬁﬁsawﬁmﬁﬁr#wﬁmﬁgﬁ
[

2. et wlR o 5 wimar @ o mite i wEs
# 5 dima @ o wite & R

TR AR A s wE g

{a) FA 1

b) a2

{¢) 13k 226

dy AF1aRaE2

Fr=fafas wuel o1 frew #itfie

1. afE A’ = A, @1 A U5 IEgeeAUig WEE §
FE A’ # A @ aREd |

2. oRAGEaiymE R H AT =1,
i A et & 1

oRfarEn § & F W T ae g

{a) AT 1

iby i 2

{e) 13k 22

fdy’ sdr 1k AHe

oft Rt s Aot an pd oz @ p T 3w gd
o w g T R, A (p + gl vz fiewds AR @ 2

fal p+q
(b} pg
ed 1

dy 0O

12 famfat & R owE O 5 feafsal & o

i gt At # | 5 o Rt 4 o @
war R gt @ svwme g s & )
R mmr A rm e

(a) 27720

{b) 13860

(e) 6930

(d) 485




24.

25.

26.

Q-0EBA-K-NBU

(c)

In tossing three eoins at a time, what iz the
probability of petting at most one head ?

{a)
(b}
{ch

{d)

@|l= - w1 oo

What i& the sum of the cocfficients of all the
terms in the expansion of (46x — 49)% 7

— 256
- 100

{a)
ib)
{e} 100

{d) 256

Two balls are selected from o box containing
2 blue and 7 red balls, What is the probability
that at least one ball is blue 7

{a)

(b}

»

(d)

2l e vl ol

If the equation x* — bx + 1 = 0 does not
possess real roots, then which one of the
following is correct 7 -

(a) =3=bh=d
(b) =2<b<2
e b>2

dl b<-2

27.

fB = A

: (c)

()

-

The probability of guessing a correct answer'is

:—2. If the probability of not gues.':'t.ng the

correrl answar 15 % then what is x equal to ?

(a)
(b}

o o

id)

If the system of equations 2x + 3y = 7 and
Zax + (2 + bly = 28 has infinitely many

solutions, then which one of the following is

correct 7

(a) a=2hb

(b} b=2=2a

(el "a=-2b

id) b=-2a

If p and q are the roots of the equation

¥* — px 4+ q = 0, then what aré the values
of p and g respectively 7

fa) 1,0

by 0,1

e} =2,0
-2, 1

Consider the following statements related to a
variable X having a binomial  distribution

byln, pi:

1. Ir p=%, then the distribution is
symmetrical.

2.  p remaining constant, POX = r) increases
as n increases.

Which of the statements given above isfare

correct 7
(a)
(b}
(e} Both 1 and 2

{d) Neither 1 nor 2

1 only
2 only



e wag # A Tt soen d§ sftedaftes o
i ey e e e )

23,
(a}
(b)

{ch

[dk

ot b3l ol=1 oofca

24, (45 - 49)* TR # ad ol b it @
i = 2

(a) -256

(b} —100
{c)

(d}

100

256

oF wgE A 2 A ok 7o W E el S A0
T I # | gwe T wite @ T wu-dan oe
fiz A et

(a)

b}

3]

Bl e el 0w

(d)

aft wim xf - bx + 1= 0 & TS T
A A PRt e @ d e

Aa] .
(b}
(€
(d)

=3<b<id
-2<bh<2
b>2
b<-2

0-0EBA-K-NBU

27.

30,

{9 - A}

mﬂﬂmﬁrwﬂﬁ#iﬂnﬁﬁm%#mﬁ

mmmmamﬂrmgt.mm

A FE 7

{a) 2
(b} 3
fe] 4
(dy 6

aft whewo Bwm ox 4 9y =7 W
Bax +{a + bly =28 % sa &= & &
Frefufam # A sl w2 7

() a=2b
b} be=2a
(el am-2h
(d) b=-2a

oft e X —px+gq=0 Sy psm g T
piRgE TR s T E ?

1,0

0,1

-2, 0

-2 1

fal
(b}
(c)
(d)

fime # byln, p} T W X 3§ wafuw
e s o R #ifie -

1. dRpe= %.a‘rmmﬁﬁil

2. pamd, A PX =) adem § @ oeoodEe
2 \

ofifefiaa wwel § & sl o w8 2

{a} a1

by W&m 2

(c) 13k 2K

dy sdr1sfcade




31.

32,

33,

34.

Q-OEBA-K-NBL

What is the number of ways of arranging
the letters of the word ‘BANANA' so that
noe two N's appear together T

(a) 40
(b} &0
{c) 80
{d) 100

Consider the equation (x = pl{x =6} + 1 =0
having integral coefficients. I the equation
has integral roots, them what values can'p
have 7

{a] 4or8
{by 5or 1
(e} Borl2
{dl Joré

What is the eguivalent binary number of

the degimal number 13-625 ?
(a} 1101-111
(b} 1111-101
{ch . 1101-101
d) 1111111

What is the value of
548 Y B b o ,
[Thﬁ] . [i:ﬁ] g
(ad -1
by 0
e} 1

a 2 |

35.

36.

&i.

38,

| 10 - A}

The order of & set A is 3 and that of a set
B iz 2 What is the number of relstions
from Ato B ?

(a) 4

(b) 6

(c) 22

(d) 64

What is the value of ———:]::E{::} ?
(a) log,, (a)

{b)  log,,, (aoh)

(el logn“ {ezfiy)

(d) gy, (B

The 59" term of an AP is 449 and the
448™ torm s 59, Which ierm is equal to
0 (zera) 7 f

{a) 501% term

b} 5027 tarm

e} 508%™ term

() 509" term

For a set A, consider the following statements :
1. AU FPA)=PHA)

2, AINPAI=A

4. PlA) - 1Al = P(A}

where P denotes power set,

Which of the statements given above isfare
cofrect 7

{a) 1 only

(b} 2 only

fe} 3 only

(d) 1,2and3




31. W ‘BANANA' b e @ 59 W st &0
&, & o 2 Noow a7 o, e s # 7

(a) 40
(bl &0
{e} 8O

(dy. 100

Tﬂ*wmm.iu-pnx—mn.u
w faar #ive | oft wiwm & 5w s & @ p
& W R e 7

&2.

(a) 4 3 8
(b) 5 3reEl 10
(e} 6 3En 12
(d) 3 e 6
33, .cEEE WEN 13625 H weed fEamurd e
FmE?

(al
by 1111-1M

1101-111

(g} 1101-101

{d) + 1111-111

4. 200 — 20l
. i+3 . T o
~i++3 " li+a3

wAAFTE ?

fa) -1
by 0O
b:.:b 1 :

d) 2

Q-0EBA-K-NBLU

a7.

(11 - A}

{a)

wEa A® URET 3¢ iR UE T B
2% | A% BwWs wal & wam w2

(n) 4
(b &
(c) 32
idy 64

log E.(H}

I i e — ﬂmﬂi?
Loy {H

Herm )
log,q (o)

(b} :"Eq[l-.r ()

{c) ]UI{"! (ofy)

(d) log, (B}

fidh e A0 & 5o o2 449 # ol 44997 W
o | @R T wo(gm #?

{a} 5018 T
by  50%ET oF
le) 508 T2

idy 500E 0=

mwﬁhﬁﬂu.ﬁﬁWMWhﬁ
FiEm -

1. AU P(A} = Pl&)

2 AN PA=A

3. PiA) — |A} = PIA)

el P sl @ O e |

e wee & @ 2w W End 2
(o) @ 1 _

(b) o 2 *
{cy oad 3

(d) 1,233




39.  1fthe AM and HM of two numbers are 27 and |43,  What is the maximum point on the curve

12 respectively, then what is their GM equal x = efy 7
to 7
(a) 12 ' ' (@ (L e
{b) 18 by (1, &h
fe} 24 () (e, 1y
rd
(dy 27
() el n
- 1 1 .
40, If tan Aw — and tan B = =, then what is
2 3 44. The function fx)=e% xe R is
the value of (A + B1 7
a) 0 {a} Onto but not one-one
(b) 4 (b)  One-one onto
i .
fe) ) {e} ©Ome-one but not onto
d) =

(dy MNeither dne-one nor onto

4. I (4, 0 and (-4, 0) are the foei of an ellipse
and the semi-minor axis is 3, then the ellipse 4

,d )
], then what is E-i equal

pu_uﬁesqthrnugh which wne of the fallowing| ."1_43:2
points 7 -
fa) (2,00
1
(b} (0,5 (a) z
) 1+ 4x?
fed {0, 0}
) 150
1
(b) - =i
1+dx
42. Under what condition do the planes
bx —ay=n, cy-bz=] pz-—cx=m
intersect in a ling ?
i
(a) a+b+ec=0 1 4’
(b) amb=2e¢
b = 3
) al+bm+en=0 () 4:;:2
1l4+4x

d f+m+ne=0

Q-0EBA-K-NBLU [ 12 - A )




40.

il.

0-OEBA-K-NBU

of @1 dwEmEt & wneeR W AN FTEE AT

w27 3 12 &, @ 39 i T # 2
(a) 12
(b} 18
(e} 24

(d) 27

e}

(d) =

ot et dnfgm & afird (4, 0) o (-4, 0)
e adeg e 3 &, @ PRt fepl A 9
firety St e & 7

(a) (2,0
B (0,5
(€ (0,0
@ (5 0

ammussfm o ke —ay=n, cy—ba=1,
AZ=-cxX=m Eﬁmﬁﬁﬁﬁf?

(8) a+b+ec=0
) a=b=e¢
(¢} al+bm+en=0
(d)

l+m+n=0

44,

45,

{13 - A1

T
(a)

x m o'y @ o g a2
{1, e}

b) (1, &Y
e} (e, 1)

@ e

wH fxy=c*, xeR

(a) 3memED W vkd
(b) i IS #

(¢) vk # o o T8
(d) =@ o & ok 5 & s

Ei‘rE HOm e ?

i P, | 4%
ofE y = sin [—1 ) i

+1i-1!2

Y o

1+4x?
= 1+]4I}:v:2
" 1 +: x* i
S v



46.  What is the Yalue of ) for which the vectors |50, What is the derivative of

»

A bl A A A A L] A
i -F ek, 2+ =% Ailj ek ,;.Iﬁa_xz,,nasi,,-l[z]?

are coplanar 7 'y
(a) 1 fa) Ja?—x?
(b} 2
(b)  2a%—x?
e) 3
1_ .1 i
@ 4 L L

(d) 2yx*-a?

47. What is the equation of the plane through
z-axis and parallel to the Hne
-1 y+2 -3, 51.  If (-5, 4) divides the line segment between
cos®  sind o the coordinate axes in the ratio 1 : 2, then
what is its equation ?

fa) xcotB+y=0

bl xtanf-y=0 (a) Bx+5y+20=0
el x+yeotB=0 b} Sx+8y-T=0
(d) x-ytan@=0 {e) Bx—5y+60=0

48. Ifthe lines 3y + dx =1, y=x+ 5 and

id) Bu-8By+57=0
3y + bx = 3 are concurrent, then what is :

the value of b ? ' 52. What is the value of
{a) 1 | cos 15°  gin 15° cos 43°  cos 15°
w0 b
B 3 | coz 45°  gin 45° sin 45"  gin 15°
{e}) &
1
fal ~—
dry o
49.  What is the least value of b %
Mx) = 2x3 = 3x% - 12x + 1 on [-2, 2:5] ?
(a) =3 B i '
by 8 4
fc} -1%9
(d) -165 @y =2
- 4

Q-0EBA-K-NBU I




: ; A A a |0,
46 WA Er e el i - + k,
- A A
2l +i—%k, hi-]+ak oedcd?
(a}) 1
by 2
¢} 3
dy 4
47. x-1 ¥+2 '2-3 ¥ mwwm R
] sin B 0
-8 A [FA O e o wiew o oE P s
(a) xeolB+y=0
(b} xtanfB-y=10
e} Xx+ycotb=10
(d) x=ytanB =0
48, TR TEE Ay+4x=1, y=x+5 3k
By +bx=39TH & dib@m AR FENE 2
fa) 1
52,
bl 3
{cd B
(dy 0
49, [-2, 25 W =0 5H_12x+1 W
R A e
(a) -3
by &
{fe)y -18
(dy =165
0-OEBA-K-NBU [ 16 - &)

xdaﬂ-x“mzsm"[fj W] R W
9

ta) ya-x?
(b 24a%—x®
= ‘lfgt_az

] 2\|x= ~n¥

afe et & @9 & T @ (- 5, 4), FEE
1:2 ¥ & 2, @ zo@r wieEw &m
gr

fa) Bx+ 5y +20=0
(b) Pu+By—-Tm0O
¢) Bx-Sy+60=0

(d) Bx-By+867=0

| eos15°  sin 15° | cos 45  cos 16° |
|

x

| cog 45°

sin45° | sin 45°

qAENE?

sin 15°

{ah l
(b}

¥3
2

(g}, =

o | =

d} =

]
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53. Out of 32 persons, 30 invest in National

Savings Certificates and 17 invest in shares,
What is the number of persons who invest in
bath 7

fa) 13
(b} 15
(el 17
d) 18

What are the equations of the directrices of
the sllipse 25x% + 16y = 400 7

{a) 8x+25=0
(b} 3y+2=0
) x2165=0
d) y+25=0

1Let A be an n % n matrix. If
det (A} = &* det (A), what is the value of

87

. fa) 0
by 1
(e} =1
(dl m

2 2
l..-EtEbt:thanipse%+yT = 1 and C be

the circdle %2 +y2=9 Let Pa=(1,2 and

Q = (2, 1), Which one of the following is
correct 7
(&) @ lies inside C but outside E

(b} @ lies outside both C and E

(e} P lies inside both C and E.

{di P lies inside C but ‘outside E

BA.

i,

[ 16 - A}

What is the geometric interpretation of the
identity (& - b)x(% + b)=2(% x b)?
1. If the diagonals of a given parallelogram
are used a8 sides of a second
parallelogram, then the area of the

second parallelogram is twice that of the
given parallelogram,

2. If the semi-diagonals of a given
parallelogram are used as sides of =2
second parallelogram, then the area of
the second parallelogram is hall that of
the given parallelogram,

Select the correct, answer using the code given

below :

{a} 1 only
(b} 2 only
(e} Both 1_ and 2
(d} MNeither 1 nor 2
w2 g
What is J ——35"' 3 7 dx 7
sin” x + cos” x '
i

{a) =

n
b}y =

2

"
e} =
. 3
dy 0
The function flx) = —*— from R to R is

x" 41

{a) One-one as well as onto
(b} Onto but not one-one
(¢} Meither one-one nor onto
id) One-one but not onto '

If A be'a real skew-symmetric matrix of order
n such that A% + T = 0, T being the identity
matrix of the same order as that of A then
what is the order of A 7

(a) 3
(bl  Odd
(e} Prime number

(d) Even



Q-0EBA-K-MBU

.- 32 whedl & & 30 B ¥ 3 vefim wEe oo

> iR ddh 7R EH dd b )
wferdt & wem w3 3 d Paw e # 2
(a) 13
(b) 16
{e) 17
d) 19
54. dnfgm 25 + 16y% = 400 & Foosl &
e T # 7
fa)' 3x+265=0
b) 3y+25=0
(€0 x215=0
d) y125=1
66, W o, A®E nxn swRgE # | o
det (LA) = A% det (A), T sam A 9 & 7
@ 0
(b} 1
() =1
(@ n
56. mﬁﬁvlﬁ?ﬁ@%+’;ulaﬂtﬂ?
T aleyte9 wmdfmw P=(1,2 sk
Q=121 PeaFRmddash o ad @
(a) Q2% C & fiew o E 5 amR
th) Q# C3REF§ax
ic) P#C3iE2F 5 dem
(d) P#Cipie 5 E & anx

58,

117 - A

whfiE (3 - b)x(3 + b)=2(F x b}

& it weed wa @ 2

1. of% et e m weew opds i fewt o o
g;wrmﬁgﬁjaﬂgﬁrsﬂhmﬂug

S, o R AR e e

Y R e i S o g A

2. aﬁg;ﬁﬁﬂmﬂmﬁgﬁxtgﬁ-ﬁ?ﬂﬁ
5 T T By @ e i W
ﬁmm.?ﬂq\'ﬂ‘?mugﬁmﬂéﬂﬁrgg
™ FWR ads & s o a2 |

ja) &A1

(b) &t 2

(0} 13k 2@

idy @1 adE 2

=/2

j gin® x
s"nn:a X + cos x

0

{a) =

de TR D

(b}

p2| A

fc) E
dy 0

R Ro® B fx) =

%t 41

vl A wRoES 2
ymegwees & fneg vibsl A

e} o @ wiEr & aft = & sroEs
(d) ok & fisey oremrem w8

oft A TE FR n o areis - e
HERE A+l =0 7 I @R @
s AR £ maf @A @ Aad ek =
#7?

(@)
(b}

fa) 3

ib) fawm

(ch AW HE
(d) 9




Directions : For the next 3 (three) questions to |64,
follow : :
The table below gives an incomplete fréquency
_ distribution with iwo missing frequencies fy
and fa_
Walue of K Frequency
e . Iy
1 £, 65.
2 4
3 ' 4
4 3
The total frequency is 15 and the arithmetic
mean of X is 2.
61. ‘What is the value of f, ?
{a). 4 :
By, 3
fe) 2
(dy - 1
6.
62. What iz the standard deviation 7
J5
} s
(a 2
VB
h p—
(b T
4
ik -
3 , 67.
- 18 :
dl -—
¢ L!]
63. What 15 the coefficient of variance ?
200
] g
{a 5
L]
8
BH)
(e}
V5
(d) 150
O-0EBA-K-NBU [ 18 — A

What is the sum of all natardl numbers
between 200 and 400 which are divisible by
Tr - :

{a)
(b}
(c)
id)

6729
a7z
T2
o276

The mean and variance of a hinomial
distribution are 8 and 4 respectively What is
PX =1) equal to ?

fa) 21% '
@ zla
(c) -2-1E

Whatis [ o *sinxdx equalto?
fa) ™ * (gin x — cos x) + ¢
(b} fsinx-—xcosx)+c

(e}
{d)

where ¢ is a constant of integration.

{x 5in X + cos x) +¢

(gin % 4 % cos x) + ¢

An observed event B can occur after one of
the three events Ay, Mg, Ag. IF .
PiA)) = PlAy) = 04, PYA)) = 02 and
PIB|A) = 025, P(B|A; = 04,

P[I:ll."'!.all = (1256, what is the probability of
A, after observing B ?

(a) 1/3
ib) 6/19
ic) 2057
(d) 25




fder : s 3 () o & R -

e #ft weht & o el arERe de T @

2w () SR 1, sepien & |
X W AERA

0 f,

1 f,

2 4

1 4

4 3

FaadARA 182 R X T AW A 2 ¢ |

61, s A= Tme?

(a)
()
(el
{d}

Ll = == I =

62 WS e v & 2

(&) %
(b} %
(c) %

@ P

63, WHRW TVIH #E ?

200
(@) —=
5045
(h) -
00
(e}
5
(d) 150

O-0EBA-K-NBU

67.

119 - A )

200 T 400 & @2 & 7 F frwsg oh oagd
(Tt Tt @ e @ # 2

(a} 6729
(by . 8712
fc) 8729
(d)- 9276

e s e R4 ® |
FX=1maaasnt?

{a) ==i- 3

213
(b zi“
{c) giﬂ
id) AL'

Ie""uin xdx WHAFME?
(a) e™*(sinx—cosx)+¢c .
(bl (sinx —x cos x}+ ¢
{¢c} (xBinx +cosx)+c
(d} (=in x + x cos x)+ c

e ¢ vl TEeE-aEE

A7 weml A, A, Ay bR om MfEw
9 B WT wEdl € | 9% PA) = PlAy) = 04,
P(Ay) =02 @1 P(B|A)) = 0-25,

PB | Ay) = 04, P(B|Ay = 0-125, % B & demn
Ham A, B nRwa E# 7

te) 1/3 L]
ib) 6189
(e) 20/57

Ad) . 2/b

(]




y 4
68. What is j - ¥ i equaitod
x" 1
3
fa} et . dtan x4 ¢
K.
1] '—d"' +x+dtant x4 ¢
<
() 5 —x+2tan x4 e
- S
(d) x? —x-dtan ' x +¢
where ¢ is a constant of integration.
8 2
69, What is the value of lim | > ?
h Tm | X+]
(a) e
b) e
icy et
iy &
70. What is the area of the triangle with vertices
0, 2,2) (2,0,-1} and (3, 4,007
{a) 152 sguare units
(b} 15 sguare units
(e} 7/2 square units
(d) 7 square units
1 i
7. If - is one of the roots of
2~ J-2
ax® + bx + ¢ = 0 where a, b, ¢ are real, then
what are the values of a, b, ¢ respectively 7
(@ 6 -4, 1
(b) 4,.6 -1
© 8 -2 1
(d} 6 4, 1
O-0EBA-K-NBLU

73

4.

T4,

[ 20 - A

7a.

If w

X = &

is & complex cube root af unity and’

2 _ @ — 2, then what is the value of

X2 dx a7l
(a) -2
(b} -1
(e} O
dy 1
Il cos x # =1, then what is —Ei{jx—
l+cogx
eqgual o 7
{a) —cot —
a [an] 2.
b} ot X
k3
X
(c) tan —
c : T 2
; X
(d) —tan.—
an %

The angle of elevation of the tip of a flag post
irom a point 5 m away {rom its base is 75°
What is the approximate height of the flag
post ? ¥

{fa} 15 m
b) 17 m
] : 19m
(d) 21m

If A = Piil, 21) where P denotes the
power set, then which one of the following
13 correct 7

() 1L,ACA
b) 1eA
€] peA
(d} 1,2 eA



T iy
68. jx+ldx AR T E?
1

12+

3

(a) 3‘3- —x+4dtan txse

4

X =
(b E +x + 4 tan™!

X+ cC
3
el L—x+2tanlx+c
k]
.xﬁ
{d) —3-—:!-:—4tanlr+c
FEl ¢ UF wHEE-HE # |
E=+4
69, lim [“ ) A TP
g | X+ 1
{a} €
b} &
(el ot
dy 0
70. it (0,2, 2), (20 -1) 33, 4, 0) = By
o S me P
(a) 152 of zwd
by 15 af g
©)  7/2 = o
(d) 7@ FEE
1
1. @R a’+b =0 & 6 e
ax® + bx + ¢ qHA 2—‘|"—_2
Tl a, b, ¢ IS &, A a, b, o F TA FEE
wE 7
(g} .6, -4, 1
(b) 4, & -1
e 8§, =2, 1
id). & 4, 1
O-DEBA-K-NBU

73.

T4.

{21 - A

oft Tl @ vh WEE T o # AR
t=n?—w—2 8 A x*sdx+ 7 W AR TN

27

{a) —_2
b =1
(ed O
dy 1
ot cex e -1, A 0 mummmid?
l+eosx
. P
(I (e
(a ool m
W
b L=
(b} co -
x
B =
{c) an 5
d) —tan &
d) 5

fadt a2 % O @ T B0 TS WA A
Emgl wes g #7508 aEmem a
T Fard @ # 7

fa) 15 m

(b 17Tm

c} 18m

(d}y Z1lm

of A = P(l1, 2) 7 P 99 SgEa @ aifa
Fm g A dd s mw e 2

fa) (1,ZICA
b} 1eA
el peh
() (1,2 eA




6.

7.

T8.

79.

Q-OEBA-K-NBU

The geometric mean of three numbers was
computed as 6. It was subsequently found
that, in thiz computation, 8 number 8 was
wrongly read as 12. What is the carrect
geometric mean 7

{a) 4.

b} 4F

) a¥is

(d) None of the above

1 2
Let A= [ ] = [a.], wherei, j= 1,2 If
i 4 ¥

its inverse matrix iz lbl.‘ll' what is h22 7

(8) -2
(b} 1
3
[e) z
1
dy = 2

The angle A lies in the third quadrant and it
satisfies the equation 4 (gin® x + cos ¥) = 1,
What is the measure of the angle A7

{a) 225° J
(b) 240°

(e} 210°-

id} MNone of the above

What is the area E;'Lclnsnd between the corves
vém 12% and the lines x =0 and y =67

ls.ll1 2 square units
(b} 4 sguare units
iz} B square units
(d) B square units

| 22 - A}

In a triangle ABC, BC = 39, AC = 5and

AB = 7. What is the measure of the angle
AT
"
} o'
(a 2
5 .
i 3
k11
'i| ek
{C__ 2
n
dy =
: 3]
; 1+3
What is the modulus of —— =3
1~({1=i)
{a) 1
b)- 5
& S5
(dy 6

If the line through the peints A (k, 1, =1} and

B2k 0 2

is perpendicular to the line

through the points B and C (2 + 2k, k, 1), then"
what iz the value of k ?

{a} =1

(B} 1

e}y -3

d) 3

What is J dx equal to 7
o o Tewt

(@) x-Inx+c

(b}
()

(d}

X —In (tan x) + ¢
X=n(l+e™+c

In(l+e"l+c

where ¢ 15 8 constant of integration.




6.

T8.

T

_ Q-OEBA-K-NBU

i wwrl = iR T 6 weite W | w E g

d(gin? x + cos x) = 1 B BT HAE | B

{d)

mm 5 o dem o om ol 8 W e W 12
foren v o | WY e e w0 E P

fa) 4
¥5

218
afifafiam § & o 7

(b}

(&)
id)

1 2
mﬁtﬁun=l }:[aﬂ],ﬁrtﬁi,j-],E
3 4
3| oft gem wpEn wEE [byl B, W by, T
g7
fa) -2
by 1 :

3
f vl
(] 3
1
AR
(d) 2

B A Gt ol # ¢ ok @ whew

A wHm Fn# 7

(a) 225%

(bl 240°
210

fifafen & & 2 a8

(=

a5 y=12 F T x-0 FH y=6 5
dra & dmwa T P

2 m1f g
& T 3T
6 o gard
8w gard

(&)
(bl
(e}
(d}

|23 =

&0,

Bl.

A}

fiodh P ABC 3, BC= 435, AC=5 3R
AR =T# | BT AT AN T # ?

{a)
(b),

(e)

el tafA E|H

(d)

=

1+ &

'i—l:l--ﬂE

& WIS e P

fal 1

&

[1+3)
(c)

(dy &

i frgell A (k, 1, -1) 3 B (2k, 0,2) # TFGH
Y frgall B AW C (2 + 2k, k, 1) § 99 & T
o o #, A kw e w @?

(a) -1
b 1
(el -3

idy 3

j ' 4x mimmomds?
1+e*

fa) x=Inx+c
{b)
lel
) mfl+e®+c

el ¢ 0 AISELHE E |

x = In {tan x) + ¢

x-m(l+e"isc




i = i ' A A
B4. The function flx) = x cosec x i BE M ek x? - zl. P *
(a) continoous for all values of x
(b) discontinuous everywhere ' © are such that they form a right-handed
(¢} continuous for all x except at x = nm, v .
where n is an integer gystem. What is ¢ equal to ?
{d) . continuous for all x except at x = nn/2, 2
where n is an integer (a) J
.|\. A
85. What 18 the solution of the differential b)) ¥ -xk
equation :1[:.{'“—!Ir + 2].r] = :}-Ej—r 1 Ao
dx dx (e yi - xj
I A A
(@) x*=kye® ) xi - yj
-] ¢ £
(b)  yx° = kye® B9, If x=t% y=t® then whatis d_g equal
to? dx '
7 :
{c) :.I'E:q:2 = kye (a} 1
(d) Nome of the above ! ey 3
2t
" where k iz a constant.
v {c) -3—
A6, A wvector E: iz collinear with the wveetor . 4t
2 = (2, 1, 1) and satisfies the condition (d) 3
2
2B =3 Whatis B equal to 7
&) (1, 1/2 -1/ 7
4
(b (23, 1/3, -1/3)
90, What is J tan® x dx equal to ?
(e} (1/2, 14, -1/4) :
(d) (1, 1,0 Ed
87. 'What is the least positive intager n for which @ 3
1+i]" i w2
i x a
(a) 16 (e} 1
12 3 '
fc} B .

0-0EBA-K-NBU [ 24 - A )
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BT Mx) = x cosec x
(a) x& @l A= & ow waa #
(b) wda oA B

0 xETRTi s dmE Y=
fom =8, 7% n o s &

(dy :$F¥ﬁﬂﬁﬁ$mm#ﬁiﬂx=nﬂfﬂ
& fw =l 78 n o i £

Hﬂﬁﬂﬁﬂu(x%vﬂy]nﬁf% = B

R
-3
{a) x* = kye®
¥
[b] J-'xz = kjl'e-a
ol

fe) v° = kye®

@) R § & o
T kB R #

saRw b m;&w; = (2, 1,-1) & T
gokafEn § . b =3B agmEme b
TAAENE P

(ay (1, 12, -1/
(b} (2/3, 1/3, -1/3}
(e) -(1/2, 1/4, -1/0)
d (1,1,0

[“i_]nﬂ & fow wgeem oS gofs o @

1=i
g7

(a}) 16
(h) 12
) 8
) 4

A * # -

B&, Eﬁﬁ'l_a’=x3+}’j+z’i:, b=k, ¢ T
Thimed o emE | c mEREmE?

A

(a) ]
L] n
b)) ¥j -xk
o &
(e) ¥i=—-x]j
A Iy
(d} =z=i =yj

(@) 1
(b) %
(e} 4—3;.
d %

tan®xdx THA FNE ?

2
b T AL

i
=|4

{a) 3

(b

(c)

B | =

(dy ©

[ 25 - A
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1.

3.

B4,

O-0EBA-K-NBL

Let 0, 0, 0, P(3, 4 5, Qim, n, ri|gg
and Rf{l, 1, 1) "be the vertices of a|
parallelogram tsken in order. What iz the
value of m +n + r 7
(a) @
by 12
fe) 15
{d} More than 15
What is the solution of the differential
equation 3 e* tan y dx + (1 + e*)sec® ydy = 0 7
(Al Nl+eMtanv=c¢
b) 1+e¥tany=c
e} (1+ePtany=c
; P,
(d) []+el}sm:2].r=c
where ¢ is a constant of integration.
What is the locus of points, the difference of
whose distances from two points  being
conatant ?
(@)  Pair of straight lines
b)  An ellipse
(e} A hyperbola
{d) A parabola o97.
‘What is the differential equation for
Y =dalx-a)?
) yy —2nyy + ¥y =0
)y ¥y +2x+y:=0
€} ywivy —-2x)+y5=0
d) yv' - SZxyy’' + ym 0

{26 - A}

“If the angle between the vectors a ar'.d. Tt;

is %, what is the angle between —5a and

—-

6b ?°

{a)

& |A

(b)

(e

@ |5

@ 30
T

What is the degree of the differential equation

= T
(a) 1
by 2
(e} 3
(dy &

d

a
f j-xzfnwr.!kl.' Zimx+ X, + ¢; then
m om

what are the values of m and n respectively 7

{a) 1/3, -1/9
b 3 -9
€ 3, 9
fld,'l 3 3

where ¢ is a constant of integration.




91.

82,

94,
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7 wfae & 040, o, 0), P'{s. 4, 5), Qim, n, r}
am R, 1, 1) B s agdE e

ok & |

men+rHATFE P

(a) 6

by 12

() 15

(d) 15 % st

I THEE
de*tany dx + (1 #+ ¥ sec? ydy = 0
HEA TR ?

(@) (l+e*ltany=c¢
) N+ePtany=c
el l+etany=c
(d}
FE ¢ U - & |

{1+ e sect y = ¢

& frget & R a
frgramn# 2 ——————

(a) ¥ TEgm

() e
) wiEmwasg

(d)y wEmg

¥¥ = da (x —n) ¥ 0 yasa wlaw w d p
(a) yw-2xyy +y =0

bl wwiyy + 20 +v:i=0
@ yy'iyy -20+y*=0

d)y w'—-2Zuyy' +¥=0

95, Rt wREt 7 ik Eﬁiﬂﬂaﬂaﬁw;#,fh

-5% N 6b HAumEmEmd ?
v R
&
iy ==
(3] o

i) =
T

dx? dx
o R P
(a) 1
by 2 '
e} 3
(dy 6

3

a
97, ufE !.Hzlﬂxdkzx—!nx+x—+:,
[1+] n

m I & A o

(a}) 1/3, -1/9
(b)
i} 3,9
(d)

FET ¢ FE WHEA-ET 2|

| 27 - A




#8.

1040,

101.

Q-0EBA-K-NBU

What is the principal value of cosec™ (— v217
p, 4
(a) =
4
ki
b har
1] 2

e} -

P

d) 0

If f:R—+R g:B—-R and gix) s x+ 3
and (fopix) = (x + 3% then what iz the value
of -3 7

fa} -9

by 0

{c} 8

d 3

(x—1)%

?
= -1]

L]
‘What is the value of lIm
=kl

fa) 0
b 1
{c)
id)

-1

The limait does not exist

A balloon is pumped at the rate of 4 em” per
second, What is the rate at which its surface
area increases when its radius is 4 cm ?

(a) 1 cm¥feee

(b 2 em®fsec
(e} 34:1113,."5-&&

(d)

4 cm®/sec

109,

1.

., [e)

105G,

| 2B - A"}

What is the value of M s
1 - tan 15°
(ay 1
1
(b)
J2
1
fe) —==-
¥3
dy 2

If fix) = kx? — 9% + 9% + 3 is monotonically
incréaging in every interval, then which one
of tha following is correct 7

(a) k<l

(b} k=3

el k=3

(@) k=23

If sin~} B3 sin~! 2. 5 , then what is the
£ x 2

value of x 7

fa} 1
by T
12
(dy 17
If o, f are the roots of the gquadratic

équation x° - x + 1 = 0, then which one

of the following is correct ?
(a) (a* - p") is real
b 2(®+ p%) = (ap)®
&) (af—pf=0

(d) (a® + % = (e pi®



98. cosec’! (- V2) AWM AR T # 7

n
18.) E

-4
4

= H

f:R-HR g:R—=R it glxl=x+3
(foglx} = (x + )%, @ f-8) & 7= O

et
(b} 0
e} 9
(dl 3

fe = 1%

G Gl
fx=1|

100, lim

x=l

() O
by 1
feh =1

(d) v o e 8 #

101. % @ 4 em® uftt Fwvz A = A A I

# | 7@ gt B 4 om @ A seE 90 dEem
o dmme?

fal 1 cmz,n'raac
(b} 2 em?fsec
cy 3 :mzfser:

id) 4 cm’faec

Q-0EBA-K-NBU

102.

104,

104.

105.

1+ tan 15°
—  _®mUA T
1= tan 15
{a] 1

1
(k)

5z

1
{e)

7
@ 43

oz fix) = k¥ - 9x° + Ox + 3 WS- ¥
el e &, o Frafifes 4 @ 2 o ow v
gr

(a) k<3
3]
{c)

{d)

,_112 n
+ 510 —— e

, & x @ A

(a) 1
by 7
{c) 13

d) 17

oft Bom wiem 2 -x+1=0 h%ﬁ,ﬂﬂ,
AbEEfm i AsT oo ad # 2

(a) (ot - pY) ol &

b 200+ pP) = (ap)®
ey a®-pf=0
)y (a® + p% = e p®




108. If angles A, B, C are in AP, then what is

106. What is the value of V3 cosec 20° - sec 20° 7
sin A 4+ 2 gin B + sin C equal to 7
(a) Lf4 =
(a) 4 8in B cos® [*‘T"C]
b) 4 g
2 =
w {b) " 4 sin B cos® [%J
d 1
) . ; 2 (A-C
107. The probability distribution of random (e} A .sin D) con (—2 ]
variable X with two missing probabilities Py
and p, is given below :
{(d) 4 sin (2B} cos® [ﬁ]
X PX) ;4
1 k
2 By 109. StaternentI: If -12x<0, then
se=l Ty S |
3 ik cos (sin™" x) = -.Ir1 o
4 Pz Statement I : If -15x<0, then
5 2k &in {ms"'l X = ~,||1—'.::a -
It is further given that P(X £ 2) = 0025 and
PIX = 4) = 0-35. 4 Which one of the following is correct in respect
of the above statements 7
Consider the following statements :
1 _ (a) Both statements 1 and 11 are
- =P independently correct and statement 11
2. p+p=PX=3) is the  correct  explanation of
. statement T
Which of the statements given above isfare
St {b) Beth statements I and 11 are
? independently correct but statement 11
i5 mot the correct explanation of
{al 1 only E-tah!me_nt I-
(b) 2 only (e} Statement I iz correet but stalement 11
15 false
fe) Both 1 and 2 : :
{(d} Statement I is [alse but statement II is
(d) Neither 1 nor 2 M Re:
Q-0EBA-K-NBU [ 30 = A )




106. '3 cosec 20" - sec20° AR FME P |

{a) 1/4
(b} 4
(e 2
d 1
107. fh oefimes = X = wiEew dTa, Bed A
21 wiftmsant p, i p, 3fem € S R T
3.
X POX)
1 k
2 Py
3 ik
4 Py
5 . 2k

mryRe N o prd s Pxc21=025

mn P(X = 4) = 0:36.
Prefisfia wu @ oo &t

l. j]! = PE

2. p+pp=PRX=3

suftffas ael # @ ot wyd vl 2 »
(a) i 1

I 2

1 3t 2 2

a@idade

(b
(el

[d}

Q-OEBA-K-NBU

108,

{31 - A

-

aft @ A, B, C v AU E, A
SinA+2sinB+sinC AR TNE ?

{a) 4 sin B cos® [%J

() 4 sin B cos? ["‘4;‘3]

(¢) 4 sin (2B) cos® [“*EJ

{d 4 sin (2B) cos? [_‘“*;C]

&l g —1sx<0 @
cog (ginlx) = — 1-x% =
gl o -1sx<0 W

gin (cos™t %) = J1-x7,

Preffer & @ o5 = ow, offefen ot
e Fwdt # 2

fEf w1 R 10 muﬁ#aﬂ#
w11, w0 1 ad e §

(a}

et @ 1 3 11 wewn w8 # R
e 01, @ 1 2 W e A g

b,

(c) ®uA 9@ 2 o o 1w #

(dy W 1w ¢ g e Ll &



110. Statementf: y = - tan'(x"}}) + 1 is an|112. Leta, b, c be in AP E 3

inereasing flunction of x. Consider the following statements :

dy
Statement II ; E is positive for all values of x. s T T
=, —, — arsin AP.
ab" ¢a’ be

Which one of the [ollowing iz correct in
respect of the above statements 7

1 1 1 ;
__J- s N are in AP,
(a) Both statements [ and II' are orde’ Jerda' Jasilb

independently correct and statement I1

i the omedt  sxpisnsbon  of Which of the statements given abnua isfare

correct 7
statement [ !
(a} 1 only
(b} Both statements 1 and II  are
independently correct but statement IT (t) 2 only
is mnot the correct explanation of .
statement 1

tcd  Both 1 and 2

{e) Btatement 1 is correct but statement 11

is false {d}  MNeither 1 nor 2

(d) Statement I is false but statement II is
-

corroect 118. What is the diferentiation of ||:Ig x with
respect to dn x 7
111. Consider the following statements in (a) o
respect of circles ¥ 4 ¥ — 2x - 2y = @
and x* + ¥ = 1: S 1
1.  The radivs of the frst circle is twice that e 1fx

of the second circle.

. dy x
2, Both the circles pass through the erigin.

Which of the statements g-man above is/are |114. What is tan {71 } equal to ?
2

correct ?

{a} 1 only @ J6 + 43 -2 42
(b) 2 only b V6 + 43 42 42
) Both 1 and 2 © J6_-J3 4+43 9

(d) Meither 1 nor 2

d 6 + 43 +J2 -2

Q-OEBA-K-NBU {32 - A)



110, @l

y=—tan (x1) + 1, x 0 OF FEAR
A

@Al :Eﬂwﬁﬁﬁﬁm%mil

frefafan & @ 25 W s, awifafes @ &

fomm i wit & 7

fa) effmws 1 sk 1T wwim
w11, a1 o e e #

by =Mt wma 1 sk 11 = w2 e
w11, w1 & o) ey Al &

() mlmﬂ#ﬁaw1[m@é

) @ 1 e & g e 0w E

1m. 7o B2+ -2x-2y=0 3k 2+yl=1W

Q-OEBA-K-NBU

Frrm & Fefifes e w e S

1. ;aw@uﬁﬁm@qaﬂﬁmaﬁgﬁ
!

2. SFigmEigAEad

R st s mA @ A e

(a) &6 1

(h) a2

(e} 13w 22
) I@iskada

112w eifae B a, b, c TR AR 4 &

113,

114.

(33 -4

_ﬁnﬁ]ﬁaﬂmﬂimﬁﬂﬁﬁ:
1 11

1. E'E‘Emwﬁil

g 1 1 1

Jo+de' Jerda’ Jardb
T AT

e et & 4 2w
(a) A 1

(b} & 2

o) 1322

dy Id1dRado

In x % Trie Tog, = &1 FEEe R P
fa} 0O

by 1

(e 1

dy =

Lan.[?% ] AR TR ?

@ Jg +V3 -2 +2
) J6 +J3 +42+2
te) -.I"__—\E+JE—2

(d) JE+JE_!+\I"§-'2




A15.

cos 15 + cos 457

What is the value of 1 3
08" 15° + cos” 45°

?

()

|

1
(b} 3

1
@ +
.

(d) None of the above

Directions : For the next 3 (three) guestions to
follew :

118,

117.

Q-DEBA-K-NBU

The vertices of a cobe are (0, 0, 0), (2, 0, O),
(©,2,0),10,0,2), (220,120 2,02 2,
(2, 2, 2} respectively.

What is the angle between any two diagonals
of the cuba 7

(a) eos~' (1/2)

(k)

os~t (1/2)

(e} cost (1/43)

dl eost(2/43)

What iz the angle between one of the edges of
the cube and the diagonal of the cube
interseeting the edge of the cube 7

{a) oz’ (1/2)
(b} eos™ (1/3)
cos ™ (1/43)

eog™t [Z,J'Jﬁ )

(e)

(d)

118. What is the angle between the diaginal of

118,

120,

[ 34 - A )

one of the faces of the cube and the
diagonal of the cube intersecting the
diagonal of the face of the cube 7

{a) eos™(1/43)
b cos™t(2/43)
(@) cos (v2/3)
(d) cos” (V2 /B

Let @ and f be two unit vectors and a be

the angle between them. If (a + E} is aleo
the unit vector, then what is the value of & 7

{a) E '
(b) %
{c) 23—!
(d) %

Whal is the value of
(01005, 2 + muu}"”z
[mun“’“ﬂ rumn‘“”t + ﬂ:-mn: ;|

1o-1u1]“m2

{a) (00013,

(b} (0-01),
(cd {01}y

(d) (L


https://www.sarkariresults.io/

115.

, e03 156* + cos 45°

4

—  WmHMEn#?
r:nsa 157 + 1:.035 45
@) =
1
(b) 2
1
el ._;
d) wRielEa § & @8 a6

Fdw : amet 3 (el pt & e s

116,

{d}

117.

Q-OEBA-K-NEBU

* (b

et &1 & Wi e (0, 0, 00, (2,0, 00, (0, 2, 0),
(0,0,2),(2,2,0),(2,0,2),(0,22),(222¥ |

mardd s demam e ?
ta} cos™ (1/2)
(b} cos™' (1/8)
{e) ens(1/J3)

cos™' (2/43) -

7 & il s it Ry B et TR T
oot &5 de @ oy e # 2

{a) cos™! (1/2)
cos ™t (1,/3)
(e} cos 1(1/433

d) cos”l(2/V3)

118. T % 015 od & foed mom oo % o & Rt
HEFA T s S e ?
{a) cos™ (1/43)

l:ﬂﬂl_ll_ (2/43)

cos™! (V2/3)

]
()

(d) cos™' (JE k1]

TR s kb AT AR i
T e mBvd | o (3 + )W s
e e P ol

118,

n
{a) I .

(b

[(3}

{d}

aonyy ' + (o1

120.
- D101l 2 (0011 F + (D411) 3

(101"

A R 7

(a) (0-001),

(b} (0-01),
(€) (01),

@ (1),

(36 = A}
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5 o P a8 G gRew @l @ 7 g s od as 7 Gl
.87, : Q-OEBA-K-NBU wllemr g FIEA

e gRewT
o

wig : & e sl dfe fe g : 300

1. olten wrow B9 ¥ g0 A, 3W g9 whem g & veme s ok A B gl o e e, s
T T N TR v e anf | @ | ol d d, o o udt ol g & e A )

2. FeR-wAs § W W W when gRew 3EEE A, B, C 91 D guitufy we w1 ¥ goag St |

3. zw e gfEw 0w § e e Ses 0 s 3o

© oy e @ | ol gfiee sl po T o

4. 3w e gfte A 120 we=re (v e e # | wes v R i oo F e & | v pe A
Hﬂ;l?gp‘:;DM}ﬁETmflF{ﬁﬂmﬂﬁ;ﬂ?ﬁgﬁﬁﬁmm.mrmwﬁﬁmmmilﬂﬁ
U e wh 5 oE @ st wegeR 98 @ & 3o segee @) sk o S s wetem | e
v ¥ o damew ot wep g R | :

5. wmE AF i wRpER 3w A B s W @ 3 o # ) geeees A Re e e dfee

. el wer & ofs W E - :

7. gl el B o ofew qfes & Rfier werel & v ST R RS B OF S, I e
- % w B S & SRR ¢E e FRemE A A E

8 3w ol deged @ Teomae § w5 aw e witen & WA U S IO WEEE 3 A
¥ | amo 3oy wne ol ofias & w A s R

9, et am ¥ fw o wde g & st A e #

" 10. e 3o & fve v

ws weaEt § IefiEr g Ry e wem o & fve qos R e |

() s T 5 e ax feies I § | SRR R wE W & e Re e o e 3 s e
v i Froa fise e ot @ ves-forerd (0-33) 292 & w9 A e e |

i) R @ R o d s I 3 &, A 59 wew IR W wen, oo e ow s A ow
o e g 2, B o 3w e & P sodrege & owft e @ aos R e '

i ot TR g o e B sen &, sy e g 3R 5 R s &, o 7@ v
i o = zvz = B smem o

5@ o@ H9E aF e gRaer @i P T oE S a4 9% T @

Note : English version of the instructions is printed on the front cover of this Booklet.
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